7. (16 points) The alternating half-daily cycles of the rise and fall of the ocean are called tides. Tides in
one section of the Bay of Fundy (Canada!!) cause the water level to rise 6.5m above mean sea level
and drop 6.5m below. The tide completes one cycle every 12 hours. Assuming the height of water
with respect to mean sea level is modeled by a sine function;

("1';' T’*)) a) Sketch a graph that models the position of the water in reference to mean sea level for one
¥ complete day. (be sure and label your axes)
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( b gm) b) Find an equation for this model.
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("Z ¢ ®) © What is the maximum displacement between low tide and high tide? -
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